2. THlE=%1V A

(ki B )

- 181 -






BT =2V 7 ME M)

GERMEARER AW AR5 1)

(BT :mg/L)

T X HET R4 tEM INATH

i XHT A —R 202 203

H1[X 44 A I BT T EMHih

X %5 0230 0040

HEES 000100 002000

FF R (m) 6.0 30.0

& RH A ZHP RHPF

& X 5y Z Dt TIEAK

PKFEH H H27.7.15 | H27.12.15 H27.7.21 | H27.12.15

7KIE(°C) 18.0 15.0 19.4 22.5

B RURIE R (mS/m) 15.1 13.2 19.0 16.9

pH 5.9 5.9 A EE 6.8 6.7 M EE
D4=1=5 Y 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MGl ER 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/mauxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
FhFronzFL < 0.0005 < 0.0005 < 0.0005 0. 0022 0. 0020 0. 0021
T X HET R4 INATH INATH

i XHT A —R 203 203

X A &7 IR ET £R HT

X %5 0200 0340

HEES 000200 001600

FF R (m) N N

& RH A B N

& X 5y ATERAK ATERAK

PKFEH H H27.7.24 | H27.12.15 H27.7.21 | H27.12.15

7KIE(°C) 20.3 18.4 18.6 20.2

B RURIE R (mS/m) 8.7 7.3 13.9 11.5

pH 5.7 5.9 A EE 5.4 5.4 M EE
D4=1=5 Y 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MGl ER 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/mauxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
FhFronzFL < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
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BT =2V 7 ME M)

(ERMEARER W )R 552)

(BT :mg/L)

T XHTF 4 INATH INATH

i XHT A —R 203 203

H1[X 44 FriEHET FriEHET

X %5 0350 0350

HEES 001300 001400

FH G (m) 40.0 54.0

& RH A RHP RHPF

X Sy IXEAK IXEAK

PKFEH H H27.7.24 | H27.12.15 H27.7.24 | H27.12.15

JKIR(°C) 18.2 19.2 18.3 19.1

B RURIE R (mS/m) 14.8 17.7 16.8 14.3

pH 5.9 5.8 A EE 6.0 5.9 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 0. 0006 0.0006 (< 0.0005 < 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL 0. 001 0. 001 0. 001 < 0. 001 < 0.001 < 0.001
VA ZA=1=t S < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
T XHTF 4 INATH INATH

i XHT A —R 203 203

H1[X 44 AN=IL A HET

X %5 0660 0670

HEES 000100 000100

FH G (m) 10.0 45.0

& RH A ZHP N

X Sy ATERK IXEAK

PKFEH H H27.7.22 | H27.12.14 H27.7.21  H27.12.14

JKIR(°C) 20.0 16.7 20.0 18.5

B RURIE R (mS/m) 18.8 18.6 83.0 68. 2

pH 6.8 7.0 A EE 1.5 1.5 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 < 0.004 < 0.004 0.010 0.009 0.010
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
VA ZA=1=t S < 0.0005 < 0.0005 < 0.0005 0.0018 0.0024 0. 0021
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BT =2V 7 ME M)

(GERMEARER AW )R 533)

(BT :mg/L)

T X HET R4 WS W ST

i XHT A —R 204 204

H1[X 44 JA] FEHT JA] FEHT

X %5 0010 0010

HEES 000100 000130

FF R (m) 6.0 3.0

& RH A ZHP ZHP

& X 5y ATERAK ATERAK

PKFEH H H27.7.14 | H27.12.15 H27.7.14 | H27.12.15

7KIE(°C) 13.8 15.5 14.0 14.0

B RURIE R (mS/m) 24.2 25.5 30.6 34.8

pH 6.6 6.9 A EE 7.0 7.0 M EE
D4=1=5 Y 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MGl ER 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/mauxFL 0. 005 < 0.004 0. 005 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL 0. 002 0. 001 0. 002 < 0. 001 < 0.001 < 0.001
FhFronzFL 0.039 0.043 0.041 0. 0009 0.0010 0.0010
T X HET R4 WS mET

i XHT A —R 204 206

H1[X 44 JA] FEHT IR R

X %5 0010 0490

HEES 000140 000100

FF R (m) 5.0 20.0

& RH A ZHP RHPF

& X 5y ATERAK ATERAK

PKFEH H H27.7.14 | H27.12.15 H27.8.4 | H27.12.11

7KIE(°C) 16.3 15.8 19.6 17.0

B RURIE R (mS/m) 27.8 28.1 20.6 17.6

pH 6.9 6.9 A EE 6.1 6.3 M EE
D4=1=5 Y 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MGl ER 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/mauxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
FhFronzFL 0. 0032 0. 0055 0. 0044 0. 0009 0. 0009 0. 0009
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BT =2V 7 ME M)

(GERMEARER AW AR5 4)

(BT :mg/L)

T XHTF 4 PIVET FIVET

i XHT A —R 207 207

X A HItEET SRAHT

X %5 0030 0070

HEES 000500 000400

FF R (m) 10.0 40.0

& RH A ZHP RHPF

& X 5y Z Dt Z Dith

PKFEH H H27.7.13 | H27.12.14 H27.7.13 —

JKIR(°C) 17.0 16.0 19.5

B RURIE R (mS/m) 50. 4 42.7 42.6

pH 6.6 6.6 A EE 8.1 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 < 0.0002 (< 0.0002 < 0.0002
ke =8 )~— 0. 047 0.030 0.039 < 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 (< 0.0004 < 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 0. 006 0. 006
1,2-Y/mauxFL 0.033 0.025 0.029 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 0.0011 0.0011
1,1,2-N)/manx=x < 0.0006 (< 0.0006 < 0.0006 [< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001
FhFronzFL < 0.0005 < 0.0005 < 0.005 < 0. 0005 < 0.0005
T XHTF 4 Bl B

i XHT A —R 210 210

X A = sk i T = sk i T

X %5 0030 0030

HEES 000400 000500

H R (m) 100. 0 P N:

& RH A RHP RHPF

& X 5y — % Ex TIEAK

PKFEH H H27.7.29 | H27.12.16 H27.7.29 | H27.12.16

JKIR(°C) 17.7 13.5 18.8 15.0

B RURIE R (mS/m) 23.8 23.0 23.9 21.5

pH 6.6 6.7 A EE 6.5 6.5 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/mauxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
FhFronzFL 0. 0006 0. 0006 0. 0006 0. 0025 0. 0021 0.0023
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BT =2V 7 ME M)

(ERMEARER AW )R 4535)

(BT :mg/L)

T XHTF 4 Bl B

i XHT A —R 210 210

HiIX 4 2 BRHT P R ET

X %5 0040 0080

HEES 000300 000500

H % (m) 100. 0 P N:

& RH A RHP N

& X 5y IXEAK — % Ex A

PKFEH H H27.7.29 | H27.12.16 H27.7.29 | H27.12.16

JKIR(°C) 17.3 14.5 21.2 13.6

B RURIE R (mS/m) 25.4 24. 6 21.4 19.8

pH 6.9 7.0 A EE 6.6 6.5 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs 0. 0009 0.0011 0.0010 (< 0.0005 < 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 0. 001 0. 001 0. 001
VA ZA=1=t S 0. 0006 0. 0005 0.0006 [< 0.0005 < 0.0005 [< 0.0005
T XHTF 4 Bl B

i XHT A —R 210 210

H1[X 44 F S THT #rE AT

X %5 0090 0100

HEES 000500 000200

FH G (m) 60.0 130.0

& RH A B N

& X 5y Z Dt TIEAK

PKFEH H H28.1.19 - H27.7.29 | H27.12.16

JKIR(°C) 13.0 21.4 14.5

B RURIE R (mS/m) 17.8 25.9 23.5

pH 6.7 A EE 6.9 6.8 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 |< 0.0002 < 0.0002 < 0.0002
ke =8 )~— < 0.0002 < 0.0002 |< 0.0002 < 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 |< 0.0004 < 0.0004 < 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 |< 0.0005 < 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 |< 0.0006 < 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
VA ZA=1=t S < 0. 0005 < 0. 0005 0.0011 0. 0007 0. 0009
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BT =2V 7 ME M)

(ERMEARER W )R 556)

(BT :mg/L)

T XHTF 4 Bl B

i XHT A —R 210 210

X A = 7K FTHT (kN

X %5 0130 0380

HEES 000500 000100

FF R (m) N 80.0

& RH A RHP RHPF

&K 5y — iR JKEIKIR

PKFEH H H27.7.29 | H27.12.16 H27.7.29 | H27.12.16

JKIR(°C) 21.6 13.8 16.5 14.5

B RURIE R (mS/m) 21.8 20.0 23.6 22.0

pH 6.9 6.6 A EE 6.6 6.5 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL 0. 001 0. 001 0. 001 < 0. 001 < 0.001 < 0.001
VA ZA=1=t S < 0.0005 < 0.0005 < 0.0005 0. 0005 0. 0006 0. 0006
T XHTF 4 Bl B

i XHT A —R 210 210

H1[X 44 18 0, HT BEE

X %5 0440 0480

HEES 000100 000100

FH G (m) 60.0 100.0

& RH A RHP RHPF

X Sy IXEAK IXEAK

PKFEH H H27.7.29 | H27.12.16 H27.7.29 | H27.12.16

JKIR(°C) 16.3 15.0 18.8 14.1

B RURIE R (mS/m) 24.0 21.1 23.5 23.2

pH 6.7 6.7 A EE 6.6 6.7 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 0. 0005 0. 0008 0. 0007
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
VA ZA=1=t S 0. 0005 0. 0005 0. 0005 0.0010 0.0011 0.0011
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BT =2V 7 ME M)

GERMEARER AW )RS5 7)

(BT :mg/L)

T XHTF 4 Bl B

i XHT A —R 210 210

H1[X 44 BE — IR HT

X %5 0480 0510

HEES 000500 000100

H % (m) 100. 0 P N:

& RH A RHP N

& X 5y IXEAK — % Ex A

PKFEH H H27.7.29 | H27.12.16 H27.7.29 | H27.12.16

JKIR(°C) 17.9 15.0 22.8 14.6

B RURIE R (mS/m) 26. 6 23.2 24.7 22.7

pH 1.2 7.0 A EE 1.7 1.5 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs 0.0012 0.0012 0.0012 (< 0.0005 < 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
VA ZA=1=t S 0. 0009 0. 0007 0.0008 [< 0.0005 < 0.0005 [< 0.0005
T XHTF 4 Bl B

i XHT A —R 210 210

H1[X 44 5 1 ET % 1 ET

X %5 0540 0540

HEES 000200 000400

FH G (m) 80.0 60.0

& RH A B N

&K 5y — iR JKEIKIR

PKFEH H H27.7.29 | H27.12.16 H27.7.29 | H27.12.16

JKIR(°C) 16.5 15.0 19.5 11.5

B RURIE R (mS/m) 17.0 15.9 18.2 16.9

pH 7.0 6.7 A EE 6.8 6.7 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 0. 0005 0.0005 [< 0.0005 0. 0005 0. 0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
VA ZA=1=t S < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
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BT =2V 7 ME M)

(GERMEARER AW )RS 558)

(BT :mg/L)

T X HET R4 Famm Famm

i XHT A —R 212 212

X A % FREF

X %5 0010 0010

HEES 000400 001000

FF R (m) 100.0 100.0

& RH A RHP RHPF

& X 5y — AR &R ATERAK

PKFEH H H27.7.15 | H27.12.14 H27.7.15 H27.12.14

7KIE(°C) 25.5 14.9 15.0 14.3

B RURIE R (mS/m) 19.1 14.0 20. 4 15.2

pH 6.5 6.5 A EE 6.6 6.6 M EE
D4=1=5 Y 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MGl ER 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/mauxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
FhFronzFL < 0.0005 < 0.0005 < 0.0005 [< 0.0005 0. 0005 0. 0005
T X HET R4 Famm Famm

i XHT A —R 212 212

X A 18 = HT H#EIR

X %5 0020 0040

HEES 000100 000100

FF R (m) 50.0 30.0

& RH A RHP RHPF

& X 5y ATERAK — % Ex A

PKFEH H H27.7.15 | H27.12.14 H27.7.15 H27.12.14

7KIE(°C) 23.4 11.8 17.0 15.0

B RURIE R (mS/m) 19.7 13.5 17.5 11.6

pH 6.5 6.7 A EE 6.5 6.6 M EE
D4=1=5 Y 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MGl ER 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— < 0.0002 < 0.0002 <0.0002 |[<0.0002 (< 0.0002 < 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/mauxFL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 < 0. 001 < 0. 001 < 0. 001 < 0.001 < 0.001
FhFronzFL 0.0014 0. 0021 0.0018 0. 0009 0.0012 0.0011

- 190 -




EME=2V VREGGES)  (EREAREREY A RE5r9) (HA7 :mg/L)
T XHTF 4 R RHET S EET
i XHT A —R 361 384
H1[X 44 AH = K th 5B HT
X %5 0010 1030
HEES 001000 000500
H % (m) 130.0 P N:
& RH A RHP N
X Sy IXEAK ATERK
PKFEH H H27.7.13 | H27.12.17 H27.7.16 | H27.12.15
7KIE(°C) 20.5 13.6 15.5 14.0
B RURIE R (mS/m) 44.1 35.6 23.8 20.0
pH 7.8 7.8 A EE 6.8 7.0 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— 0. 0007 0.0015 0.0011 [€ 0.0002 < 0.0002 [< 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v 0. 036 0. 042 0.039 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 (< 0.0006 < 0.0006 [< 0.0006 0. 0008 0. 0007
NzmrzFL 0.020 0.022 0.021 < 0.001 < 0.001 < 0. 001
VA ZA=1=t S 0. 0005 0. 0005 0.0005 [< 0.0005 < 0.0005 [< 0.0005
T XHTF 4 SEET = 3E S KHET
i XHT A —R 384 386
H1[X 44 = K th 5B HT IR
X %5 1030 0140
HEES 001000 000200
FH G (m) 13.0 ~BH
& RH A ZHP N
& X 5y Z Dt — % Ex A
PKFEH H H27.7.16 | H27.12.15 H27.7.14 | H27.12.15
7KIE(°C) 18.5 16.5 18.0 15.5
B RURIE R (mS/m) 42.6 37.1 22.6 20.9
pH 6.9 6.9 A EE 6.7 6.8 M EE
run AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUEAb R 3R < 0.0002 < 0.0002 <0.0002 (< 0.0002 < 0.0002 [< 0.0002
ke =8 )~— 0.0010 0. 0040 0.0025 [< 0.0002 < 0.0002 [< 0.0002
1,2-Y/maxiy < 0.0004 < 0.0004 < 0.0004 |[<0.0004 < 0.0004 (< 0.0004
1,1-Y/uaxFLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2->7uaxFL v < 0.004 0.011 0.008 < 0.004 < 0.004 < 0.004
1,1,1-’N)rmanxs < 0.0005 < 0.0005 < 0.0005 |[<0.0005 (< 0.0005 < 0.0005
1,1,2-N)/manx=x < 0.0006 < 0.0006 < 0.0006 (< 0.0006 (< 0.0006 < 0.0006
NzmrzFL < 0. 001 0. 001 0. 001 < 0. 001 < 0.001 < 0.001
VA ZA=1=t S < 0.0005 < 0.0005 < 0.0005 [< 0.0005 0. 0005 0. 0005
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EME=FV TREG GG  EREAEESR A &R I 45 1) (HEAL : mg/L)
T XHTA 44 &R™ €R
X R = —R 201 201
X 4, AJOwvY AJOvY
HP = 0010 0010
H A% 000100 000800
G (m) 50.0 100.0
R RHP EHP
&KX Sy — % B8R IXEAK
PAKFEAH H27.6.16 | H28.1.26 H27.6.18 | H28.1.28
7KIR(°C) 15.5 14.5 15.8 14.5
BRURE = (mS/m) 25.0 25.0 22.0 28.0
pH 7.1 7.1 AR A 6.7 6.9 GRSl
A==y ¥ 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUGl R < 0.0002 (< 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 [<0.0002
1,2->vr/aax i < 0.0004 (< 0.0004 |< 0.0004 |<0.0004 |< 0.0004 (< 0.0004
1,1-Y7uaaxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rumxk < 0.0005 < 0.0005 [< 0.0005 (< 0.0005 (< 0.0005 [< 0.0005
1,1,2-N)7mmxb < 0.0006 (< 0.0006 [< 0.0006 (< 0.0006 < 0.0006 [< 0.0006
N zoozsLy <0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001
FRo/RaTTL L 0.0005 | 0.0009 | 0.0007 | 0.0059 | 0.0049 | 0.0054
T X HETA 4 &R™ ®IR™
i KA ff = —R 201 201
Hit X 44 AJOvYy AJOvYy
HUP = 0010 0010
H A% 000900 001000
FF G (m) 81.0 80.0
&R EHRE EHRA
JHIEIX 5y AETERAK — % Ex A
BAKFA A H27.6.18 | H28.1.28 H27.6.18 | H28.1.28
ZKIR(°C) 18.0 13.5 18. 1 13.0
XU EZ (mS/m) 25.0 26.0 27.0 27.0
pH 6.4 6.8 AR A 7.0 6.9 A A
A== < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UiR &S < 0.0002 (< 0.0002 [< 0.0002 (< 0.0002 (< 0.0002 [< 0.0002
1,2-Y/max iz < 0.0004 (< 0.0004 |< 0.0004 |< 0.0004 |< 0.0004 (< 0.0004
1,1-Y7uaaxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uaxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-FR)Jau=xz < 0.0005 < 0.0005 [< 0.0005 (< 0.0005 (< 0.0005 [< 0.0005
1,1,2-F)7upa=xz < 0.0006 (< 0.0006 [< 0.0006 (< 0.0006 (< 0.0006 [< 0.0006
N Z7ooxFL < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
VANZA=1= = R 0. 0063 0.0043 0. 0053 0.0018 0. 0022 0. 0020

- 192 -




EHE=FV THEGHES)  EREA R EY SR IR 552) (BANT : mg/L)
T XHTA 44 &R™ €R
AR = —R 201 201
X 4 AJOwvY AJAavy
X 5 0010 0010
H A% 001100 002000
G (m) 80.0 150.0
e R RFF RFEF
&KX Sy — &R A AEFEAK
PROKAEH H H27.6.18 | H28.1.28 H27.6.16 | H28.1.26
ZKIR(°C) 20. 6 10.6 14.9 12.5
HRARE R (mS/m) 21.0 28.0 24.0 25.0
pH 6.9 7.0 AR A 7.0 7.0 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 |< 0.0002 [<0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y7uaxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1L,1-’)yuaxziy < 0.0005 |< 0.0005 (< 0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiys < 0.0006 |< 0.0006 (< 0.0006 |[< 0.0006 [< 0.0006 (< 0.0006
[N/ g=i=tet % < 0.001 < 0.001 < 0.001 < 0.001 0. 001 0. 001
FhFrmazFL 0. 0054 0. 0039 0. 0047 0. 0022 0.0037 0.0030
T X HETA 4 &R &R
XA A= —R 201 201
HX A B7OvY B7OvY
X 5 0020 0020
H A% 000200 000400
FE PR (m) 70.0 ~BH
e R RFF B
JHIEIX 5y AETERAK AKX
PRKAEH A H27.6.16 - H27.6.17 | H28.1.27
ZKIR(°C) 15.9 16.7 15.0
XU EZ (mS/m) 23.0 22.0 22.0
pH 7.0 AR A 6.9 6.8 A A
4=1=37 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 < 0.0002 |< 0.0002 [< 0.0002 |< 0.0002
1,2-Y7aax iy < 0.0004 < 0.0004 |< 0.0004 (< 0.0004 (< 0.0004
L,1-YZunxzFlLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uaxTFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005
LL,2-NZuoxzg < 0.0006 < 0.0006 |< 0.0006 (< 0.0006 |< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0. 0063 0. 0063 0.010 0.0085 0.0093
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EME=FV TRAEGGES) ERMEAEESR A &R I 453) (HEAL : mg/L)
T XHTA 44 €RM €R
X R = —R 201 201
X 4, BJOwY BJAowvY
HP = 0020 0020
HEES 001000 001500
FH R (m) 158.0 80.0
R RHP EHP
&KX Sy — &R A AJERK
BKEAH H27.6.17 | H28.1.27 H27.6.17 | H28.1.27
7KIR(°C) 18.6 15.0 24.5 8.0
BRURE = (mS/m) 15.0 19.0 16.0 19.0
pH 6.6 6.7 AR A 6.8 6.7 GRSl
A==y ¥ 0% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUGl R < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |<0.0002 (< 0.0002
1,2-vruaaxi < 0.0004 (< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [< 0.0004
1,1-Y7uaaxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uanxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rumxk < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-N)7mmxb < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
N zoozsLy <0.001 [<0.001 [<0.001 [<0.001 [<0.001 [<0.001
FRo/RaTTL L 0.0070 | 0.0043 | 0.0057 | 0.015 | 0.015 | 0.015
T X HETA 4 €RM €RM
i KA ff = —R 201 201
HX 44 BJOwvY BJOwvY
HUP = 0020 0020
HEES 002200 002400
7 R (m) 80.0 120.0
&R EHRE EHRA
JHIEIX 5y ATERK AJERK
BAKFA A H27.6.16 | H28.1.26 H27.6.17 | H28.1.27
ZKIR(°C) 19.0 14.2 26.0 12.9
BXARE R (mS/m) 23.0 25.0 16.0 17.0
pH 1.2 7.3 B 7.0 7.0 [ TEE
A== < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UiR &S < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 |<0.0002 [< 0.0002
1,2-7aax i < 0.0004 (< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004 [< 0.0004
1,1-Y7uaaxF1L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uaxF1L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)maxk < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 |< 0.0005 [< 0.0005
1,1,2-N)7mmxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 |< 0.0006 [< 0.0006
NZuaxzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VAl A= 1= P 0. 0057 0.0047 0. 0052 0. 0008 0.0009 0.0009
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EE=FVTREGES)  EREA R EY SR FE R 55 4) (BANT : mg/L)
i X T R4 €RM €R
X R = —R 201 201
H1X 44 B7AvY B7AwvY
HP = 0020 0020
H A% 003200 003700
G (m) 150.0 80.0
e R RFF EHE
FI&X 5y ATERK AJERK
PAKFEAH H27.6.17 | H28.1.27 H27.6.17 | H28.1.27
ZKIR(°C) 14.4 13.3 16.5 15.1
BRURE = (mS/m) 21.0 25.0 21.0 23.0
pH 6.9 7.1 AR A 6.8 6.9 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 (< 0.0002 [<0.0002 |< 0.0002 (< 0.0002 [< 0.0002
1,2-rmax iy < 0.0004 [< 0.0004 [< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
1,1-Y7uaxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yooxi < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-FN) ooz < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N g=i=8 0 P < 0.001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0.057 0.083 0.070 0. 0056 0. 0045 0. 0051
XA R4 €iR™ €iR™
XAk = —R 201 201
HX A B7OwY BJOwY
HUP = 0020 0020
H A% 003900 004500
FF G (m) 70.0 49.0
e R RFF B
FIEX 5y — %8R AJERK
BAKFA A H27.6.16 | H28.1.26 H27.6.17 | H28.1.27
ZKIR(°C) 15.3 14.5 16.9 14.0
XU EZ (mS/m) 14.0 17.0 19.0 21.0
pH 7.1 6.9 B 6.6 6.6 [ TEE
4=1=37 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UiR &S < 0.0002 (< 0.0002 [< 0.0002 |< 0.0002 (< 0.0002 [< 0.0002
1,2~ 7upnx iy < 0.0004 |< 0.0004 [< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
L,1-YZunxzFlLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uaxTFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-RN)7aaxk < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)7aaxs < 0.0006 |< 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
N ZaaxzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0. 0005 0. 0006 0. 0006 0.010 0. 0091 0. 0096
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EHE=FV TREGES)  EREA R LG &R IR 575) (BANT : mg/L)
i X T R4 €RM €R
X R = —R 201 201
H1X 44 B7AvY B7AwvY
HP = 0020 0020
H A% 004600 005000
G (m) 101.0 85.0
e R EHPE HH
FI&X 5y ATERK AJERK
PAKFEAH H27.6.16 | H28.1.26 H27.6.16 | H28.1.26
ZKIR(°C) 15.8 13.0 18.9 13.0
BRURE = (mS/m) 24.0 25.0 25.0 27.0
pH 7.5 1.4 AR A 7.1 1.2 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 (< 0.0002 [<0.0002 |< 0.0002 (< 0.0002 [< 0.0002
1,2-rmax iy < 0.0004 [< 0.0004 [< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
1,1-Y7uaxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)yooxi < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-FN) ooz < 0.0006 |< 0.0006 (< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
[N g=i=8 0 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0. 0031 0.0028 0.0030 0.0085 0. 0055 0. 0070
XA R4 €iR™ €iR™
XAk = —R 201 201
HX A B7OwY BJOwY
HUP = 0020 0020
H A% 005100 006200
FF G (m) 90.0 ~BH
e R RFF B
FIEX 5y ATERK — % Ex A
BAKFA A H27.6.17 | H28.1.27 H27.6.16 | H28.1.26
ZKIR(°C) 17.5 13.2 18.1 14.5
XU EZ (mS/m) 19.0 20.0 23.0 24.0
pH 6.9 6.8 B 6.7 6.7 [ TEE
4=1=37 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UiR &S < 0.0002 (< 0.0002 [< 0.0002 |< 0.0002 (< 0.0002 [< 0.0002
1,2~ 7upnx iy < 0.0004 |< 0.0004 [< 0.0004 (< 0.0004 |< 0.0004 (< 0.0004
L,1-YZunxzFlLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uaxTFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-RN)7aaxk < 0.0005 |< 0.0005 (< 0.0005 (< 0.0005 |< 0.0005 < 0.0005
1,1,2-N)7aaxs < 0.0006 |< 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 < 0.0006
N ZaaxzFL < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0.0039 0.0033 0.0036 0.0044 0. 0033 0. 0039
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EHE=FV TREGES) R A R LG &R FE M 576) (BANT : mg/L)
T XHTA 44 &R™ €R
AR = —R 201 201
X 4 cmwvy cowy
X 5 0030 0030
H A% 000100 000500
G (m) 80.0 75.0
e R RFF RFEF
&KX Sy AEERAK AEFEAK
PROKAEH H H27.6.18 | H28.1.28 H27.6.18 | H28.1.28
ZKIR(°C) 21.5 1.5 19.1 11.6
HRARE R (mS/m) 21.0 22.0 20.0 21.0
pH 6.5 6.4 AR A 6.5 6.5 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 |< 0.0002 [<0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y7uaxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1L,1-’)yuaxziy < 0.0005 |< 0.0005 (< 0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiys < 0.0006 |< 0.0006 (< 0.0006 |[< 0.0006 [< 0.0006 (< 0.0006
[N/ g=i=tet % < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhFrmazFL 0. 0042 0. 0031 0. 0037 0. 0007 0. 0007 0. 0007
T X HETA 4 &R &R
XA A= —R 201 201
HX A c7ovy cavy
X 5 0030 0030
H A% 000800 002200
FE PR (m) 60.0 79.0
e R RFF RHF
JHIEIX 5y — %8R AKX
PRKAEH A H27.6.18 | H28.1.28 H27.6.16 | H28.1.26
ZKIR(°C) 17.8 15.6 17.8 14.5
XU EZ (mS/m) 27.0 26.0 18.0 18.0
pH 6.5 6.5 AR A 6.4 6.4 A A
4=1=37 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
UGk 3R < 0.0002 |< 0.0002 (< 0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2-Y7aax iy < 0.0004 |< 0.0004 < 0.0004 |[< 0.0004 [<0.0004 [< 0.0004
L,1-YZunxzFlLy < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7uaxTFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLI-NZuoxzg < 0.0005 |< 0.0005 (< 0.0005 |[< 0.0005 [<0.0005 [< 0.0005
LL,2-NZuoxzg < 0.0006 |< 0.0006 (< 0.0006 [< 0.0006 [< 0.0006 [< 0.0006
KNZooxFL < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
FhIr/auTFL 0.0023 0.0018 0. 0021 0. 0068 0. 0053 0. 0061
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EHE=FV 7RGk

B

(RN TR Y &R I T)

(B me/L)

T XHTA 44 &R™ €R

AR = —R 201 201

HuX A DJAvY DJAvY

X 5 0040 0040

H A% 000600 000800

PR (m) 50.0 140.0

e R B RFEF

&KX Sy — % B8R — % Ex A

PROKAEH H H27.6.18 | H28.1.28 H27.6.18 | H28.1.28

ZKIR(°C) 15.5 15.7 16.2 15.0

HRARE R (mS/m) 14.0 16.0 15.0 15.0

pH 6.8 6.8 AR A 6.2 6.1 GRSl
D g=i=3 8 8% < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
DU bR < 0.0002 |< 0.0002 [<0.0002 (< 0.0002 |< 0.0002 < 0.0002
1,2->7unx i < 0.0004 |< 0.0004 (< 0.0004 |[< 0.0004 [<0.0004 [<0.0004
1,1-Y7uaxzFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y7unxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L1L,1-’)yuaxziy < 0.0005 |< 0.0005 (< 0.0005 |[< 0.0005 [<0.0005 [< 0.0005
1,1,2-’)runxiys < 0.0006 |< 0.0006 (< 0.0006 |[< 0.0006 [< 0.0006 (< 0.0006
[N g=i=8 0 P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
FhIr/auTFL 0.0014 0.0016 0.0015 |< 0.0005 (< 0.0005 (< 0.0005
T X HETA 4 €iR™

XA A= —R 201

Hi1 X 4 cg7avy

X 5 0070

H A% 001900

FE PR (m) A

e R A

JHIEIX 5y AETERAK

PRKAEH A H27.6.17 | H28.1.27

ZKIR(°C) 21.7 15.0

XU EZ (mS/m) 23.0 25.0

pH 6.8 6.8 AETR-E)E

4=1=37 04 < 0.002 < 0.002 < 0.002

UGk 3R < 0.0002 |< 0.0002 (< 0.0002

1,2-Y7aax iy < 0.0004 |< 0.0004 (< 0.0004

L1-YZ7upxFlL < 0.002 < 0.002 < 0.002

L,2-Y7upnxFlL < 0.004 < 0.004 < 0.004

LLI-NZuoxzg < 0.0005 |< 0.0005 (< 0.0005

LL,2-NZuoxzg < 0.0006 |< 0.0006 (< 0.0006

KNZooxFL < 0.001 < 0.001 < 0.001

FhIr/auTFL 0. 0009 0.0011 0.0010
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BT =2V TR (R R )

(B3R A REHR 57 1)

(HLAZ :mg/L)

17 XHT A4 INATH IMRTH

i XHTAf = —R 203 203

X4 Gl L

X T 0050 0410

& 000100 000100

TR (m) 70.0 40.0

& ORI il RHP < 0.0002
AR5y TERK Z Dt

PRAKEH H H27.7.21  H27.12.14 H27.7.22  H27.12.14

AIR(C) 19.5 14.6 18.8 16.8

B (mS/m) 93.4 43. 1 479 245

pH 1.2 1.2 A - 6.9 1.2 AR PR fiE
=3 0.016 0.017 0.017 0. 007 0. 006 0. 007
17 XHT A4 INATH IMRTH

i XHTAf = —R 203 203

X4 £ /NRET i ET

X T 0600 0700

& 000100 000200

R EE(m) TBH 40.0

& ORI i !

AR5y T Dith TERAK

PRAKEH H H27.7.21  H27.12.14 H27.7.22  H27.12.14

AIR(C) 20.5 16.5 18.6 15.1

B (mS/m) 950. 8 40.0 200 136

pH 1.3 1.3 A - 6.9 6.9 AR PR fiE
=3 0.019 0.017 0.018 0. 020 0.017 0.019
T XA 4 WE™ mEH

i XHTAf = —R 204 206

HiX A FIRITHET = & 15 BT

X T 1190 0620

& 000100 000100

TR (m) 1.0 22.0

& ORI EHP !

AR5y — AR AERK

PRAKEH H H27.7.14  H27.12.15 H27.8.4 | H27.12.11

AIR(C) 18.5 13.2 18.5 17.3

B (mS/m) 17.3 13.6 43.5 34.8

pH 6.8 6.9 A - 1.2 1.3 AR PR fiE
=3 0.011 0. 008 0.010 0. 011 0.016 0.014
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BT =2V TR (R R )

(B3R A1) RN 552)

(HLAZ :mg/L)

T XA 4 FAWET T

i XHTAf = —R 207 207

X4 EEHT 78 % EHT

X T 0050 0120

& 000600 000900

R EE(m) TBH 30.0

& ORI EHP RHP

AR5y T Dith AERK

PRAKEH H H27.7.13  H27.12.14 H27.8.5 | H27.12.14

AIR(C) 16.5 14.5 18.0 13.5

B (mS/m) 40.8 36.4 39.6 37.3

pH 8.4 8.3 A - 1.7 1.1 AR PR fiE
=3 0. 008 0. 006 0. 007 < 0.005 < 0.005 < 0.005
T XA 4 FAWET T

i XHTAf = —R 207 207

X4 AT HT KJIET

X T 0130 0250

& 000100 000500

TR (m) 60. 0 P N:)

& ORI il !

AR5y TERK Z Dt

PRAKEH H H27.7.13  H27.12.14 H27.7.13  H27.12.14

AIR(C) 17.5 15.8 24.0 15.8

B (mS/m) 25.8 24. 1 30.4 26.2

pH 6.9 6.9 A - 8.2 8.2 AR PR fiE
=3 0.017 0.014 0.016 0. 008 0. 009 0.009

T XA 4 FAWET 2 R HT

i XHTAf = —R 207 361

X4 FIVERT i i

X T 0270 0190

& 000100 000100

TR (m) 50.0 180.0

& ORI i RHP

AR5y A ERK AERK

PRAKEH H H27.7.16  H27.12.14 H27.7.13 | H27.12.17

AIR(C) 19.0 13.0 19.5 17.6

B (mS/m) 93.4 38.2 16.7 30.9

pH 8.3 8.4 A - 8.5 7.1 AR PR fiE
=3 0. 008 0. 007 0.008 0.014 0. 025 0. 020
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BT =2V TR (R R )

(B3R )1 R R 533)

(HLAZ :mg/L)

T PCHT A 4 PR S T PR S T

M XHT R = —R 365 365

Hi X 4 iz} ByrE

Ht X 5 0070 0090

HPEES 000100 000100

FEF G (m) 4.0 7~8

AR Il EHP EBHF

F& X5y AJERK AESERAK

FRKAEH H H27.7.13 | H27.12.17 H27.7.13 | H27.12.17

KIR(C) 18.7 14.6 19.5 15.3

BRUAE S (mS/m) 27.9 58.9 16.7 15.9

pH 7.1 1.0 FREEE 7.1 1.3 FEREEE
=== 0.014 0.017 0.016 0.014 0.014 0.014
T PCHT A 4 SEHET 7V IKET

M XHT R = —R 384 461

Hi X 4 BRI RNiE

Ht X 5 1040 0040

HPEES 000200 000100

FEF G (m) 4.0 30.0

AR Il Nz EHPA

F& X5y Z Dt AESERAK

FRKAEH H H27.7.16 | H27.12.15 H27.7.7 | H27.12.15

KIR(C) 18.0 16.0 16.2 14.5

BRUAE S (mS/m) 46. 2 40.7 22. 4 21.0

pH 7.7 1.6 FRHEEE 7.0 7.1 AR
=== 0. 020 0.015 0.018 0.010 0.010 0.010
T PCHT A 4 7K ET 7 7K ET

M XHT R = —R 461 461

Hi X 44 s #’rE

Ht X 5 0060 0140

HPEES 001100 000100

R E (m) 25.0 65.0

AR Il Nz EHPA

F& X5y — % 8&r A AESERAK

FRKAEH H H27.7.7 | H27.12.15 H27.7.7 | H27.12.15

KIR(C) 16.4 14.5 17.8 16.5

BRUAE S (mS/m) 21.6 17.6 12.9 12.6

pH 6.7 6.2 | FRHEEE 7.0 6.7 | AFEREEIE
=== 0. 005 < 0. 005 0. 005 0.013 0.014 0.014
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BT =2V TR (R R )

(B3R A1) REHi574)

(HLAZ :mg/L)

T PCHT A 4 7K ET 7 7K ET

M XHT R = —R 461 461

Hi X 4 & E tiE

Ht X 5 0140 0150

HPEES 000400 000100

R E (m) 60.0 5.0

AR Il EHP EBHF

F& X5y AJERK AESERAK

FRKAEH H H27.7.7 | H27.12.15 H27.7.7 | H27.12.15

KIR(C) 16.7 15.7 13.9 14.8

BRUAE S (mS/m) 13.9 13.4 14.5 13.4

pH 6.9 6.8 | FRHIEEIE 6.9 6.9 | AFEREEIE
=== 0.012 0.012 0.012 0.010 0. 007 0. 009
T PCHT A 4 BE B HT BE B HT

M XHT R = —R 463 463

Hi X 4 FHELS R

Ht X 5 0010 0240

HPEES 000600 000200
FFREE(m) N 10.0

AR Il Nz EBHF

F& X5y AJERK AESERAK

FRKAEH H H27.7.7 | H27.12.15 H27.7.7 | H27.12.15

KIR(C) 16.8 17.2 14.5 16.5

BRUAE S (mS/m) 24.9 23.4 28.4 26.2

pH 9.2 9.3 | FEMFEEIE 1.3 1.2 FEREEE
=== 0.012 0.012 0.012 0. 007 0. 006 0. 007
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EHE=FY IREMG ) (REReE %R K O IR 2 35 ) 1 I 5EHE 59) (BEAL :mg/L)
X T4 42 INHAT INKAT
X7 A= — R 203 203
H X A4 1 A 47 BT 1 A 47 BT
Hh X 2 5 0510 0510
HEES 000100 000300
FH R (m) 4.0 FN::
- EHE gk
FEX 5y TERAK ATERK
KA H H27.7.22  H27.12.15 H27.7.22  H27.12.15
AKIR(C) 17.7 19.0 17.8 19. 1
BERUZEE (mS/m) 28.5 14.5 20.0 15. 9
pH 6. 4 6.2 ERTME| 6.5 6.3 ERITHIE
I E R R ORISR 9.6 3.4 6.5 11 11 11
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EHE=FV TREMGER) (v a)IRFE ) (BEAL :mg/L)
7 XHT ) 4 mEH mEH

X7 A= — R 206 206

Hi X 4% fnsEHT 1E RET

Hh X 2 5 0370 0500

HPES 000200 000200

FH R (m) 5.0 FN::

- EHE gk

Fli# X5y Z Dt #ERK

KA H H27.7.13  H27.12.10 H27.7.13  H27.12.10

AKIR(C) 21.7 8.7 18.3 15.5

BERUZEE (mS/m) 74.3 67.8 30. 4 26.8

pH 7.6 1.5 ERESE| 7.7 1.5 EREE
7y# 0. 95 1.1 1.0 1.2 0.95 1.1
7 XHT ) 4 mEH mEH

X7 A= — R 206 206

Hh (X 4 1E RET 1E RET

Hh X 2 5 0500 0500

HPES 000300 000400

HEE (m) B gk

- gk gk

Fli# X5y #ERK #ERK

KA H H27.7.13  H27.12.10 H27.7.13  H27.12.10

AKIR(C) 18.3 14.6 18.0 16.2

BERUZEE (mS/m) 30. 8 26. 1 38.0 30. 1

pH 7.6 1.6 ERIEHE] 7.8 1.7 EREE
7y# 1.1 1.0 1.1 1.2 1.2 1.2
7 XHT ) 4 mEH mEH

X7 A= — R 206 206

Hh (X 4 1E RET 1E RET

Hh X 2 5 0500 0500

HPES 000600 000700

HEE (m) 16.0 10.0

- gk gk

Fli# X5y #ERK #ERK

KA H H27.7.13  H27.12.10 H27.7.13  H27.12.10

AKIR(C) 16.7 14.8 18.3 14.2

BERUZEE (mS/m) 28.6 22.0 33.0 26. 6

pH 7.6 1.4 ERESE 7.7 1.6 ERTEHIE
7y# 0. 96 0. 95 0. 96 1.3 1.3 1.3
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EHE=FV ZRERGES) Ry A)IRFEHE)) (HAAL : mg/L)
X ET R 4 AT I
X7 A= — R 203 203
HhX 4 7 BAET BT
HhIX 3 5 0410 0620
HEES 000100 000200
FH R (m) 40.0 FN::
&R il il
FIRE 5y % Dt Z Dt
BOKEAH H27.7.22  H27.12.14 | H27.12.14 -
AKIR(C) 18.8 16.8 18.3
BERUZEE (mS/m) 479 245 105
pH 6.9 1.2 ERETME] 7.5 ERE
Ve 2.9 2.1 2.5 0.5 0.5
X ET R 4 AT I
X7 A= — R 203 203
Hi X 4% R ALHT ST
HhIX 3 5 0670 0700
HEES 000200 000200
FHF R (m) 7~BH 40.0
&R gk gk
RSy £ Dith TXAK
KA H H27.7.21  H27.12.14 | H27.7.22  H27.12.14
AKIR(C) 19.6 15.0 18.6 15. 1
BERUZEE (mS/m) 41.8 32.7 200 136
pH 1.1 1.7 ERTME] 6.9 6.9 ERITHIE
Ve <0.1 0.3 0.2 1.4 1.4 1.4
7 XA 4 IMRTH
X7 A= — R 203
Hi X 4% ST
HhIX 3 5 0700
HEES 000300
H R (m) 30~ 40
&R gk
RSy £ Dith
BOKAEA B H27.7.22  H27.12.14
KIR(C) 18.3 15.5
FERRE R (mS/m) 214 172
pH 6.7 6.7 AERIEHIE
e 1.8 1.9 1.9
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